

Boundedness, convergence and global stability of solutions of a nonlinear differential equation of the second order

By ŠTEFAN KULCSÁR (Košice)

Introduction. In this paper we shall discuss the asymptotic behaviour of solutions of the second order differential equation

$$(1) \quad x'' + f(t, x, x')x' + g_1(t, x)g_2(x') + h(t, x, x') + e(t, x, x') = 0,$$

which is equivalent to the system

$$(2) \quad x' = y, \quad y' = -f(t, x, y)y - g_1(t, x)g_2(y) - h(t, x, y) - e(t, x, y).$$

In the paper [1] the author discussed the uniform boundedness of solutions and their derivatives and further the global asymptotic stability of the trivial solution of the second order differential equation

$$x'' + f(t, x, x')x' + \psi_1(x)\psi_2(x') + h(t, x, x') + e(t, x, x') = 0.$$

I. W. BAKER in [4] investigated the continuation and boundedness of solutions and their derivatives of the differential equation

$$u'' + \Phi(t, u, u')u' + p(t)f(u)g(u') = h(t, u, u').$$

Further in [5], M. YAMAMOTO and S. SAKATA discussed the boundedness and the attractivity properties of solutions and their derivatives of the differential equations

$$(a(t)x')' + b(t)f_1(x)g_1(x')x' + c(t)f_2(x)g_2(x') = e(t, x, x')$$

and

$$(a(t)x')' + h(t, x, x') + c(t)f(x)g(x') = e(t, x, x').$$

In the first part of this paper there are introduced some sufficient conditions for a solution $x(t)$ of the equation (1) to be defined and bounded together with its first derivative. These results generalize some results of [4] and [5]. In the second part there are given some results concerning the uniform boundedness of solutions and the global asymptotic stability of the trivial solution of the system (2). Further in this part there are introduced some sufficient conditions for the convergence of all solutions $(x(t), y(t))$ of the system (2) to the origin as $t \rightarrow \infty$. Our results of this part generalize some results of [1] and [5].

Definitions and Propositions. In this paper we shall use the following definitions and propositions of [1]—[3]. Let $\varphi(t) = \varphi(t; t_0, x_0)$ denote a solution of the system

$$(3) \quad x' = f(t, x), \quad x \in R_n, \quad t \in I = \langle 0, \infty \rangle, \quad f(t, x) \in C(I \times R_n)$$

through x_0 at $t = t_0$.

Definition 1. The solutions of (3) are uniformly bounded if for any $(t_0, \alpha) \in I \times R_1$ there exists $\beta = \beta(\alpha) > 0$ such that $|x_0| \leq \alpha$ implies $|\varphi(t; t_0, x_0)| \leq \beta(\alpha)$ for every $t \geq t_0$.

Proposition 1 (T. YOSHIZAWA [1]). *Let there exist continuous functions $V(t, x)$ and $W_i(x)$, $i = 1, 2$ in $I \times R_n$ such that the following conditions hold:*

$$1. \quad 0 < W_1(x) \leq V(t, x) \leq W_2(x), \quad W_1(x) \rightarrow \infty, \quad |x| \rightarrow \infty.$$

$$2. \quad V'(t, x) = \frac{\partial V}{\partial t} + \frac{\partial V}{\partial x} f(t, x) \leq 0.$$

Then the solutions of (3) are uniformly bounded for $t \geq 0$.

Definition 2 (see [1]). A point $x \in R_n$ is called an ω -limit point of $\varphi(t)$ of the system (3) if there exists a sequence $\{t_n\}_{n=1}^{\infty} \subset I$ such that $\varphi(t_n) \rightarrow x$ as $t_n \rightarrow \infty$ and $n \rightarrow \infty$.

Definition 3 (see [1]). The set of all ω -limit points of a solution $\varphi(t)$ of the system (3) is called the ω -limit set of a solution $\varphi(t)$ of the system (3). This set will be denoted by $\Omega(\varphi)$.

Definition 4 (see [2]). A function $V(t, x)$ is called uniformly small if there exists a continuous, positively definite function $W(x)$ such that

$$W(t, x) \leq W(x)$$

in $I \times R_n$.

Proposition 2 (see [2]). *If there exists a positively definite uniformly small function $V(t, x)$, which has a negatively definite derivative with respect to t , then the trivial solution of the system (3) is uniformly asymptotically stable.*

Definition 5 (see [3]). The trivial solution of system (3) is called globally asymptotically stable if it is asymptotically stable and for all solutions $\varphi(t; t_0, x_0)$ of the system (3) $\varphi(t; t_0, x_0) \rightarrow 0$ as $t \rightarrow \infty$.

Proposition 3 (see [1]). *Let the assumptions of Proposition 1 be fulfilled. Moreover, suppose that the functions on the right sides of the system (3) are bounded in $I \times P$, where $P \subset R_n$ is any compact set, and there exists a continuous function $W_3(x)$ such that*

$$V'(t, x) \leq -W_3(x) \leq 0$$

in $I \times R_n$. Then $\varphi(t) \rightarrow \{x: |x| \leq \beta, W_3(x) = 0\}$, $t \rightarrow \infty$, where the constant β is as in Definition 1.

Theorems. Let $f(t, x, y)$, $h(t, x, y)$, $e(t, x, y) \in C(D_0)$, $\frac{\partial g_1(t, x)}{\partial t}$, $g_1(t, x) \in C(D_1)$, $g_2(y) \in C^1(R_1)$, where $R_1 = (-\infty, \infty)$, $D_0 = I \times R_2$, $R_2 = R_1 \times R_1$ and $D_1 = I \times R_1$.

Let us introduce the following notation:

$$G_1(t, x) = \int_0^x g_1(t, s) ds, \quad G_2(y) = \int_0^y \frac{s}{g_2(s)} ds$$

and

$$\frac{\partial G_1(t, x)}{\partial t} = \int_0^x \frac{\partial g_1(t, s)}{\partial t} ds.$$

In what follows suppose, in addition to the assumptions given above, that (I) there exist functions $p_i(x) \in C(R_1)$ such that

$$xp_i(x) > 0, \quad x \neq 0, \quad i = 1, 2$$

and

$$|p_1(x)| \cong |g_1(t, x)| \cong |p_2(x)| \quad \text{in } I \times R_1,$$

$$P_i(x) = \int_0^x p_i(s) ds, \quad i = 1, 2 \quad \text{and} \quad P_1(x) \rightarrow \infty \quad \text{as } |x| \rightarrow \infty.$$

(II) $xg_1(t, x) > 0$, $x \neq 0$, $t \in I$.

(III) $G_2(y) \rightarrow \infty$ as $|y| \rightarrow \infty$.

(IV) $g_2(y) > 0$, $y \in R_1$.

(V) $g_2'(y) \operatorname{sgn} y \cong 0$, $y \in R_1$.

(VI) there exists a nonnegative function $f_1(t) \in C(I)$ such that

$$f(t, x, y) \cong -f_1(t) \quad \text{in } D_0 \quad \text{and} \quad \int_0^\infty f_1(t) dt < \infty.$$

(VII) there exists a nonnegative function $e_1(t) \in C(I)$ such that

$$|e(t, x, y)| \cong \frac{1}{2} |y| e_1(t) \quad \text{in } D_0$$

and

$$\int_0^\infty e_1(t) dt = M < \infty.$$

(VIII) $yh(t, x, y) \cong 0$ in D_0 .

(IX) $\frac{\partial G_1(t, x)}{\partial t} \cong 0$ in D_1 .

(X) there exists a positive number M_1 such that

$$\frac{y^2}{g_2(y)} \cong M_1 G_2(y) \quad \text{for all } |y| \cong 1.$$

We have

Theorem 1. *Suppose that the assumptions (II)—(IV) and (VI)—(X) hold. Then all solutions $(x(t), y(t))$ of (2) are defined for every $t \cong 0$.*

PROOF. Let a solution $(x(t), y(t))$ of (2) be defined on $\langle 0, T \rangle$ and $|x(t)| + |y(t)| \rightarrow \infty$ as $t \rightarrow T_-$. Define the function

$$V(t, x, y) = (G_1(t, x) + G_2(y) + K) \exp(-E(t)),$$

where $E(t) = \int_0^t e_1(s) ds$ and K is any positive constant. Differentiate $V(t) = V(t, x(t), y(t))$ with respect to t for any solution of (2). Then we have

$$(4) \quad V'(t) = \left(\frac{\partial G_1(t, x)}{\partial t} - \frac{y^2}{g_2(y)} f(t, x, y) - \frac{y}{g_2(y)} h(t, x, y) - \right. \\ \left. - \frac{y}{g_2(y)} e(t, x, y) - e_1(t)(G_1(t, x) + G_2(y) + K) \right) \exp(-E(t))$$

for every $t \in \langle 0, T \rangle$.

By (X) there exist positive constants M_1 and M_2 such that

$$\frac{y^2}{g_2(y)} \cong M_1 G_2(y) + M_2$$

for every $y \in R_1$. Hence by (II), (IV) and (VI)—(IX) with respect to (4) we have

$$V'(t) \cong M_2 \left(f_1(t) + \frac{1}{2} e_1(t) \right) + M_1 \left(f_1(t) + \frac{1}{2} e_1(t) \right) V(t)$$

in $\langle 0, T \rangle$.

Integrating the above inequality from 0 to $t \in (0, T)$ and using Bellman's lemma we obtain

$$(5) \quad V(t) \cong C_0 \exp \left[M_1 \int_0^t \left(f_1(s) + \frac{1}{2} e_1(s) \right) ds \right] = C_1 < \infty$$

for $t \in \langle 0, T \rangle$, where

$$C_0 = V(0) + \sup_{t \in \langle 0, T \rangle} M_2 \int_0^t \left(f_1(s) + \frac{1}{2} e_1(s) \right) ds.$$

From (II) and (IV) there follows

$$G_2(y) \cong (\exp E(t)) \cdot V(t)$$

for $t \in \langle 0, T \rangle$, hence we have in $\langle 0, T \rangle$

$$G_2(y) \cong C_1 \exp E(t) < \infty.$$

The condition (III) gives that $y(t)$ and $x(t)$ are bounded on $(0, T)$, which is a contradiction. The theorem is proved.

Theorem 2. *Let the assumptions of Theorem 1 be fulfilled and let moreover (I) hold. Then all solutions $(x(t), y(t))$ of (2) are bounded for $t \geq 0$.*

PROOF. By (VI) and (VII) from (5) we get

$$\begin{aligned} V(t) &\equiv \left[V(0) + M_2 \int_0^{\infty} \left(f_1(s) + \frac{1}{2} e_1(s) \right) ds \right] \cdot \exp \left[M_1 \int_0^{\infty} \left(f_1(s) + \frac{1}{2} e_1(s) \right) ds \right] = \\ &= K_0 < \infty. \end{aligned}$$

From (II), (IV) and (VII) it follows

$$G_2(y) \equiv V(t) \exp M$$

for $t \in I$, hence for every $t \geq 0$

$$G_2(y) \equiv K_0 \exp M < \infty.$$

Furthermore (III) gives that $y(t)$ is bounded for $t \geq 0$. Besides, (II), (IV) and (VII) yield

$$G_1(t, x) \equiv V(t) \exp M$$

for $t \in I$. Hence

$$(6) \quad G_1(t, x) \equiv K_0 \exp M < \infty$$

for every $t \geq 0$.

The last inequality implies that $x(t)$ is bounded for $t \geq 0$, for otherwise it would be possible to find a sequence $\{t_n\}_{n=1}^{\infty}$ such that $x(t_n) \rightarrow \infty$ as $t_n \rightarrow \infty$. Then for positive x and all t_n sufficiently large we would have by (I) that

$$G_1(t_n, x(t_n)) = \int_0^{x(t_n)} g_1(t_n, s) ds \cong \int_0^{x(t_n)} p_1(s) ds.$$

This contradicts (6), since the right side tends to ∞ as $t_n \rightarrow \infty$. For negative x we could get a contradiction similarly as before. This completes the proof.

Remark. Theorem 1 and Theorem 2 extend Theorems 2.1, 3.1, 3.4 and 3.5 of [4] to the more general equation (1).

If in (VI) $f_1(t) = 0$ for $t \geq 0$, then the following theorems generalize Theorems 2.1, 2.2 and Corollaries 2.2, 2.3 of [1] and their proofs are similar to those in [1].

Theorem 3. *Let the assumptions (I)—(X) hold. Then the solutions of (2) are uniformly bounded for $t \geq 0$.*

PROOF. We use the same function $V(t, x, y)$ as in the proof of Theorem 1. The assumptions (I), (II), (IV) and (VII) imply

$$\begin{aligned} 0 < (P_1(x) + G_2(y) + K) \exp(-M) &= W_1(x, y) \equiv V(t, x, y) \equiv \\ &\equiv P_2(x) + G_2(y) + K = W_2(x, y), \end{aligned}$$

where by (I) and (III) $W_1(x, y) \rightarrow \infty$ as $|x| \rightarrow \infty$, $|y| \rightarrow \infty$. Using the fact that for $y \in R_1$

$$(7) \quad G_2(y) = \frac{y^2}{2g_2(y)} + \frac{1}{2} \int_0^y \frac{s^2 g_2'(s)}{g_2^2(s)} ds,$$

we get from (4) by (II) and (IV)–(IX)

$$V'(t) \leq -\frac{1}{2} \left(\int_0^y \frac{s^2 g_2'(s)}{g_2^2(s)} ds \right) \cdot e_1(t) \cdot \exp(-E(t)) \leq 0 \quad \text{in } D_0.$$

By Proposition 1 the theorem is proved.

Theorem 4. *Let the assumptions (I)–(X) be fulfilled. Moreover, suppose that*

(XI) *for any positive constant c there exists a positive constant K_c such that*

$$|p_2(x)| \leq K_c, \quad |g_1(t, x_1) - g_1(t, x_2)| \leq K_c |x_1 - x_2|,$$

where $|x_1| \leq c$, $|x_2| \leq c$ and $|f(t, x, y)| \leq K_c$ for $|x| \leq c$, $|y| \leq c$ and $t \in I$.

(XII) *there exists a positive function $f_2(x, y) \in C(R_2)$ such that*

$$f(t, x, y) \geq f_2(x, y) \quad \text{in } D_0.$$

(XIII) *for any positive constant c and $x(t), y(t) \in C(I)$*

$$\int_t^{t+1} h(s, x(s), y(s)) ds \rightarrow 0 \quad \text{as } t \rightarrow \infty,$$

where $|x(t)| \leq c$ and $|y(t)| \leq c$.

Then for all solutions $(x(t), y(t))$ of (2) $x(t) \rightarrow 0$ and $y(t) \rightarrow 0$ as $t \rightarrow \infty$.

PROOF. Using the same function $V(t, x, y)$ as in the proof of Theorem 3, by (II), (IV), (V), (VII)–(IX), (XII) and (7), we get

$$V'(t, x, y) \leq -\frac{y^2}{g_2(y)} f_2(x, y) \cdot \exp(-M) = -W_3(x, y) \leq 0$$

in D_0 . By Theorem 3 all solutions $(x(t), y(t))$ of (2) are uniformly bounded for $t \geq 0$. Hence there exists a positive constant A such that $|x(t)| \leq A$, $|y(t)| \leq A$ for $t \in I$. Therefore the set

$$B = \{(x(t), y(t)) : |x(t)| \leq A, |y(t)| \leq A, t \in I\} \subset R_2$$

is compact. By (I), (VII), (XI) and (XIII) the right sides of (2) are bounded in $I \times B$. Hence by Proposition 3 we have

$$(x(t), y(t)) \rightarrow L \quad \text{as } t \rightarrow \infty,$$

i.e. the ω -limit set $\Omega(x, y)$ is a subset of

$$L = \left\{ (x, y) : |x| \leq A, |y| \leq A; \frac{y^2 f_2(x, y)}{g_2(y)} = 0 \right\}.$$

From (IV) and (XII) it follows

$$L = \{(x, y) : |x| \leq A; y = 0\},$$

e.i.

$$(8) \quad y(t) \rightarrow 0 \quad \text{as } t \rightarrow \infty.$$

Further we prove that $\Omega(x, y) = \{(0, 0)\}$. Let $(a, 0) \in \Omega(x, y)$. Then by Definition 2 there exists a sequence $\{t_n\}_{n=1}^{\infty}$ such that $t_n \rightarrow \infty$, $n \rightarrow \infty$ and

$$(9) \quad x(t_n) \rightarrow a, \quad y(t_n) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Now, it suffices to show that $a=0$. Let $a \neq 0$. Integrating the second equation of (2) from t_n to t_n+1 , we get

$$\begin{aligned} y(t_n+1) - y(t_n) = & - \int_{t_n}^{t_n+1} f(s, x(s), y(s)) ds - g_1(t_n, x(t_n))g_2(y(t_n)) - \\ & - \int_{t_n}^{t_n+1} (g_1(s, x(s)) - g_1(t_n, x(t_n)))g_2(y(s)) ds - \\ & - \int_{t_n}^{t_n+1} (g_2(y(s)) - g_2(y(t_n)))g_1(t_n, x(t_n)) ds - \\ & - \int_{t_n}^{t_n+1} h(s, x(s), y(s)) ds - \int_{t_n}^{t_n+1} e(s, x(s), y(s)) ds, \end{aligned}$$

i.e.

$$\begin{aligned} g_1(t_n, x(t_n))g_2(y(t_n)) = & y(t_n) - y(t_n+1) - \\ & - \int_{t_n}^{t_n+1} f(s, x(s), y(s)) ds - \int_{t_n}^{t_n+1} (g_1(s, x(s)) - g_1(t_n, x(t_n)))g_2(y(s)) ds - \\ & - \int_{t_n}^{t_n+1} (g_2(y(s)) - g_2(y(t_n)))g_1(t_n, x(t_n)) ds - \int_{t_n}^{t_n+1} h(s, x(s), y(s)) ds - \\ & - \int_{t_n}^{t_n+1} e(s, x(s), y(s)) ds. \end{aligned}$$

Further we have

$$\begin{aligned} (10) \quad & |g_1(t_n, x(t_n))g_2(y(t_n))| \leq |y(t_n)| + |y(t_n+1)| + \\ & + \int_{t_n}^{t_n+1} |f(s, x(s), y(s))||y(s)| ds + \int_{t_n}^{t_n+1} |g_1(s, x(s)) - g_1(t_n, x(t_n))|g_2(y(s)) ds + \\ & + \int_{t_n}^{t_n+1} |g_2(y(s)) - g_2(y(t_n))| \cdot |g_1(t_n, x(t_n))| ds + \\ & + \left| \int_{t_n}^{t_n+1} h(s, x(s), y(s)) ds \right| + \int_{t_n}^{t_n+1} |e(s, x(s), y(s))| ds. \end{aligned}$$

By the well-known Lagrange's theorem there exist $\xi \in (t_n, s)$ and a positive constant c_1 such that for $g_2(y) \in C^1(R_1)$

$$|g_2(y(x)) - g_2(y(t_n))| = |y(s) - y(t_n)| |g_2'(y(\xi))| \leq (|y(s)| + |y(t_n)|) c_1.$$

Integrating the first equation of (2) from t_n to t we get

$$x(t) - x(t_n) = \int_{t_n}^t y(s) ds \quad \text{and for } t_n \leq t \leq t_n + 1$$

$$|x(t) - x(t_n)| \leq \sup_{t_n \leq t < \infty} |y(t)|.$$

Let $K_s > 0$ be the maximum of all constants in this proof, then by the estimates given above the inequality (10) yields

$$\begin{aligned} |g_1(t_n, x(t_n))| \cdot g_2(y(t_n)) &\leq (3K_s^2 + K_s + 2) \cdot \sup_{t_n \leq t < \infty} |y(t)| + \\ &+ \left| \int_{t_n}^{t_n+1} h(s, x(s), y(s)) ds \right| + \frac{1}{2} \int_{t_n}^{t_n+1} |y(s)| e_1(s) ds. \end{aligned}$$

By (I) and (IV), the last inequality gives

$$\begin{aligned} |p_1(x(t_n))| \cdot g_2(y(t_n)) &\leq (3K_s^2 + K_s + 2) \cdot \sup_{t_n \leq t < \infty} |y(t)| + \\ &+ \left| \int_{t_n}^{t_n+1} h(s, x(s), y(s)) ds \right| + \frac{1}{2} \sup_{t_n \leq t < \infty} |y(t)| \cdot \int_{t_n}^{t_n+1} e_1(s) ds. \end{aligned}$$

In view of (I), (VII), (XIII) and (8) we have

$$p_1(x(t_n)) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Since the function $p_1(x)$ is continuous in R_1 , by (9) $p_1(a) = 0$ for $a \neq 0$. This contradicts (I), hence $x(t) \rightarrow 0$ as $t \rightarrow \infty$. The theorem is proved.

Theorem 4 yields the following.

Corollary. *The trivial solution of (2) is globally asymptotically stable.*

PROOF. Since $h(t, x, y) \in C(D_0)$ and (VIII) holds, we have $h(t, x, 0) = 0$ in D_1 . Analogously by (II) $g_1(t, 0) = 0$ for every $t \geq 0$. So by (VII) the system (2) has the trivial solution. Let

$$V(t, x, y) = (G_1(t, x) + G_2(y)) \exp(-E(t))$$

in D_0 . Then by (I)

$$V_1(x, y) = (P_1(x) + G_2(y)) \exp(-M) \leq V(t, x, y) \leq P_2(x) + G_2(y) = V_2(x, y)$$

in D_0 , where $V_i(x, y) > 0$ in $R_2 \setminus (0, 0)$ and $V_i(0, 0) = 0$, $i = 1, 2$. Differentiate

$V(t, x(t), y(t))$ with respect to t . By (2), (II), (IV), (V), (VII)—(IX) and (XII) we get

$$V'(t, x, y) \cong -\frac{y^2}{g_2(y)} f_2(x, y) \exp(-M) = -W_3(x, y) \cong 0$$

in D_0 . By Proposition 2 the trivial solution of (2) is uniformly asymptotically stable. Therefore by Theorem 4 and Definition 5 the proof is finished.

References

- [1] I. A. MALYŠEVA, On ograničenosti i schodimosti rešenij differential'nych uravnenij vtorovo porjadka, *Izvestija vyššich učebnyh zavedenij* 7 (1981), 54—61.
- [2] P. REISSIG, G. SANSONE, P. CONTI, Kačestvennaja teorija nelinejnyh differencial'nych uravnenij, *Moskva*, 1974.
- [3] B. P. DEMIDovič, Lekcii po matematičeskoj teorii ustojčivosti, *Moskva*, 1967.
- [4] J. W. BAKER, On the continuation and boundedness of solutions of a nonlinear differential equation, *J. Math. Anal. Appl.* 55 (1976), 644—652.
- [5] M. YAMAMOTO, S. ŠAKATA, On the boundedness of solutions and the attractivity properties for nonlinear second-order differential equations, *Math. Japonica* 27 (2) (1982), 231—251.

Š. KULCSÁR
JESENNÁ 5
041 54 KOŠICE
CZECHOSLOVAKIA

(Received February 10, 1987)